Exam II Review
True or False:

1. The observation of some activity or the act of taking some measurement is called an experiment.

2. If A and B are independent events, then P(A│B) equals to P (B).

3. The mean of a discrete probability distribution is also called the expected value.

4. A discrete distribution is usually the result of a measurement.

5. In a uniform distribution, the mean is always larger than the median.

6. 95 % of the area under the normal curve is within one standard deviation of the mean.

7. In a probability sample each item in the population has a chance of being selected.

8. The sampling error is the difference between a sample statistic and a population parameter.

9. The population is 5 employees in a physician’s office. The number of possible samples of 3 that could be selected from this population is 10.
10. 1- P(A) represents the probability of the complement of event A.
Problems:

1. According to Joe’s research, 60% of all customers had visited his restaurant before. Suppose 3 customers are selected at random.

I. Is this a binomial probability distribution? Explain.

____________________________________________________________________________________

a. The mean of this distribution is: ____________________________________

b.. The variance of this distribution is: ____________________________________
c. The standard deviation of this distribution is: ____________________________________
II. What is the probability that:

a. none of the 3 customers had visited his restaurant before?_____________________
b. one of the 3 customers had visited his restaurant before?________________________
c. two of the 3 customers had visited his restaurant before?________________________
d. three of the 3 customers had visited his restaurant before?_______________________

III. Using the formula of discrete random variable to generate the mean, variance and standard deviation.
a. Fill in the table below:
	Number of repeat customers: X
	P (x)
	x P(x)
	(x-µ)
	(x-µ)2 
	(x-µ)2 P(x)

	0
	 
	 
	 
	 
	 

	1
	 
	 
	 
	 
	 

	2
	 
	 
	 
	 
	 

	3
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 


b. Mean = __________    Variance = ________    Standard Deviation = _____________

2. The length of time a domestic flight wait between gate departure and takeoff taxi at Boston’s Logan International Airport is approximately normally distributed with a mean of 20 minutes and a standard deviation of 5 minutes.

a. Calculate the z-value of 12:

What is the probability a plane waits between 12 and 20 minutes between the gate and departure and takeoff taxi?

What is the probability a plane waits more than 12 minutes between the gate and departure and takeoff taxi?

What is the probability a plane waits less than 12 minutes between the gate and departure and takeoff taxi?

b. Calculate the z-value of 22:

   Calculate the z-value of 30:

  What is the probability a plane waits more than 22 minutes between the gate and departure and takeoff taxi?

 What is the probability a plane waits more than 30 minutes between the gate and departure and takeoff taxi?

 What is the probability a plane must wait between 22 and 30 minutes?

  What is the probability that a plane wait less than 22 minutes?

c. What is the probability that a plane wait exactly 20 minutes between the gate and departure and takeoff taxi?

